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<! DOCTYPE htm public "-//WBC//DTD HTML 4.0 Transitional//EN'>
<HTM_>

<HEAD>

<TI TLE>Vot i ng</ Tl TLE>

<script LANGUAGE="JavaScript" SRC="/forntheck.js"></script>
<script LANGUAGE="JAVASCRI PT">

function Array2d(di m, dinR)
for (var i =0; i <dintl;i++)
this[i] = new Array(dinR);

}
this.length = new Array(di mL, dinR);

}
function average()
{
var sum
var bob;
var string = "docunment.test.elenents[\"Mat";
var string2 = "\"]";
var string3 = "document.test. el enents[\"Meandoc";
var string4 = "\"].val ue=";
var calcArray = new Array2d(16, 16); // Get the array
var resultsArray = new Array(16);
/1 Popul ate the array
for (var i =0; i < 16; i++) //loop for colums
{
sum = 0; // Reset the sum
five = 0; // Reset the absolute val ue
ab = 0;
for (var j =0; j < 16; j++) //Loop for rows
{
calcArray[i][j]= eval (string+i +"doc"+j +string2+".val ue;");
ab = Math.abs(5 - parseFloat(cal cArray[i][j]));
sum += (ab);
resultsArray[i] = parseFloat(sum/ 16);
}/ 1 End of inner for |oop
} // End of for |oop
sume0;
docunent . test. el ement s[ " Mreandoc1"].val ue = resultsArray[1];
for (i=0;i<16;i++)
bob=resul tsArray[i];
eval (string3+i +string4+ bob);
}
}
</script>
</ HEAD>
<BODY>

<Hl align="center">| EEE 802. 16 Broadband Wrel ess Access Wrking G oup:

<H3 align="center">Evaluation Form Session #5 (Date)</H3>
<HR>
<TABLE w dt h="500" border="0">

<TR>
<TD>Narne:
</ TD>
<TD al i gn="center">Last (famly)
</ TD>

<TD align="left">
<I NPUT type="text" nanme="Nane" size="15">
</ TD>
<TD align="center">First (given)
</ TD>
<TD align="left">

MAC Task G oup</H1l>



<I NPUT type="text" nanme="Nane" size="15">
</ TD>
</ TR>
</ TABLE>
<HR>

<f or m nmet hod=POST nane="test">

<H3>Scoring 1-10</H3>

<H4>10: Ideal &nbsp; 6: Wrthy of further investigation &bsp; 0: Wrthless</H4>

<p>To find average devi ation of scores hit the "Cal cul ate Mean Deviation" button at any time during
the voting process. Your nean deviation will be dynami cally updated. To subnmit final scores to
dat abase, press the "Submit" button. </p>

<i nput type="button" onFocus="average()" val ue="Cal cul ate Mean Devi ation">
<TABLE wi dt h="500" border="0">
<TR>
<TD al i gn="1eft" >&nbsp; &bsp; <FONT si ze="- 1" ><B>Pr oposal </ B></ FONT>
</ TD>
<TD al i gn="cent er"><FONT si ze="-1"><B>Eval uati on Cat egor y</ B></ FONT>
</ TD>
</ TR>
</ TABLE>
<TABLE w dt h="500" border="0">
<TR bgcol or="sil ver">
<TD al i gn="cent er " ><B></ B>

</ TD>
<TD al i gn="cent er " ><B>#1</ B>
</ TD>
<TD al i gn="cent er " ><B>#2</ B>
</ TD>
<TD al i gn="cent er " ><B>#3</ B>
</ TD>
<TD al i gn="cent er " ><B>#4</ B>
</ TD>
<TD al i gn="cent er " ><B>#5</ B>
</ TD>
<TD al i gn="cent er " ><B>#6</ B>
</ TD>
<TD al i gn="cent er " ><B>#7</ B>
</ TD>
<TD al i gn="cent er " ><B>#8</ B>
</ TD>
<TD al i gn="cent er " ><B>#9</ B>
</ TD>
<TD al i gn="cent er " ><B>#10</ B>
</ TD>
<TD al i gn="cent er"><B>#11</ B>
</ TD>
<TD al i gn="cent er " ><B>#12</ B>
</ TD>
<TD al i gn="cent er " ><B>#13</ B>
</ TD>
<TD al i gn="cent er " ><B>#14</ B>
</ TD>
<TD al i gn="cent er " ><B>#15</ B>
</ TD>
<TD al i gn="cent er " ><B>#16</ B>
</ TD>
</ TR>

<TR bgcol or ="#61B67C" >
<TD al i gn="cent er " ><B>MACL</ B>
</ TD>
<TD align="center">
<I NPUT type="text" nanme="Mat0doc0" size="3" val ue="6.0">
</ TD>
<TD align="center">
<I NPUT type="text" name="Mat ldoc0" size="3" value="7.0">
</ TD>
<TD align="center">
<I NPUT type="text" name="Mat2doc0" size="3" val ue="6.0">
</ TD>



<TD align="center">

<I NPUT type="text" name="Mat3doc0" size="3" val ue="6.0">
</ TD>
<TD align="center">

<I NPUT type="text" name="Mat4doc0" size="3" val ue="6.0">
</ TD>
<TD align="center">

<I NPUT type="text" nanme="Mat5doc0" size="3" val ue="6.0">
</ TD>
<TD align="center">

<I NPUT type="text" name="Mat6doc0" size="3" val ue="6.0">
</ TD>
<TD align="center">

<I NPUT type="text" name="Mat7doc0" size="3" val ue="6.0">
</ TD>
<TD align="center">

<I NPUT type="text" nanme="Mat8doc0" size="3" val ue="6.0">
</ TD>
<TD align="center">

<I NPUT type="text" name="Mat9doc0" size="3" val ue="6.0">
</ TD>
<TD align="center">

<I NPUT type="text" nanme="Mat 10doc0" size="3" val ue="6.0">
</ TD>
<TD align="center">

<I NPUT type="text" name="Mat 1lldoc0" size="3" val ue="6.0">
</ TD>
<TD align="center">

<I NPUT type="text" name="Mat 12doc0" size="3" val ue="6.0">
</ TD>
<TD align="center">

<I NPUT type="text" name="Mat 13doc0" size="3" val ue="6.0">
</ TD>
<TD align="center">

<I NPUT type="text" name="Mat 14doc0" size="3" val ue="6.0">
</ TD>
<TD align="center">

<I NPUT type="text" name="Mat 15doc0" size="3" val ue="6.0">
</ TD>

</ TR>
<TR bgcol or="sil ver">

<TD al i gn="cent er " ><B>MAC2</ B>
</ TD>
<TD align="center">

<I NPUT type="text" name="MatOdocl" size="3" val ue="6.0">
</ TD>
<TD align="center">

<I NPUT type="text" nanme="Mat ldocl" size="3" val ue="6.0">
</ TD>
<TD align="center">

<I NPUT type="text" nanme="Mat2docl" size="3" val ue="6.0">
</ TD>
<TD align="center">

<I NPUT type="text" name="Mat3docl" size="3" val ue="6.0">
</ TD>
<TD align="center">

<I NPUT type="text" name="Mat4docl" size="3" val ue="6.0">
</ TD>
<TD align="center">

<I NPUT type="text" name="Mat5docl" size="3" val ue="6.0">
</ TD>
<TD align="center">

<I NPUT type="text" name="Mat6docl" size="3" val ue="6.0">
</ TD>
<TD align="center">

<I NPUT type="text" name="Mat7docl" size="3" val ue="6.0">
</ TD>
<TD align="center">

<I NPUT type="text" name="Mat8docl" size="3" val ue="6.0">
</ TD>
<TD align="center">

<I NPUT type="text" name="Mat9docl" size="3" val ue="6.0">
</ TD>



<TD align="center">
<I NPUT type="text" name="Mat 10docl"
</ TD>
<TD align="center">
<I NPUT type="text" name="Mat 11docl"
</ TD>
<TD align="center">
<I NPUT type="text" name="Mat 12docl"
</ TD>
<TD align="center">
<I NPUT type="text" name="Mat 13docl"
</ TD>
<TD align="center">
<I NPUT type="text" name="Mat 14docl"
</ TD>
<TD align="center">
<I NPUT type="text" name="Mat 15docl"
</ TD>
</ TR>
<TR bgcol or ="#61B67C" >
<TD al i gn="cent er " ><B>MAC3</ B>
</ TD>
<TD align="center">
<I NPUT type="text" nanme="Mat0doc2"
</ TD>
<TD align="center">
<I NPUT type="text" nanme="Mat ldoc2"
</ TD>
<TD align="center">
<I NPUT type="text" nanme="Mat2doc2"
</ TD>
<TD align="center">
<I NPUT type="text" nanme="Mat 3doc2"
</ TD>
<TD align="center">
<I NPUT type="text" name="Mat4doc2"
</ TD>
<TD align="center">
<I NPUT type="text" nanme="Mat5doc2"
</ TD>
<TD align="center">
<I NPUT type="text" nanme="Mat6doc2"
</ TD>
<TD align="center">
<I NPUT type="text" nanme="Mat 7doc2"
</ TD>
<TD align="center">
<I NPUT type="text" nanme="Mat8doc2"
</ TD>
<TD align="center">
<I NPUT type="text" nanme="Mat9doc2"
</ TD>
<TD align="center">
<I NPUT type="text" name="Mat 10doc2"
</ TD>
<TD align="center">
<I NPUT type="text" name="Mat 1l1ldoc2"
</ TD>
<TD align="center">
<I NPUT type="text" name="Mat 12doc2"
</ TD>
<TD align="center">
<I NPUT type="text" name="Mat 13doc2"
</ TD>
<TD align="center">
<I NPUT type="text" name="Mat 14doc2"
</ TD>
<TD align="center">
<I NPUT type="text" name="Mat 15doc2"
</ TD>
</ TR>
<TR bgcol or="sil ver">
<TD al i gn="cent er " ><B>MAC4</ B>

size="3"
size="3"
size="3"
size="3"
size="3"
size="3"
size="3"

size="3"
size="3"
size="3"
size="3"
size="3"
size="3"
size="3"
size="3"
size="3"

size="3"
size="3"
size="3"
size="3"
size="3"
size="3"

val ue="6.0">

val ue="6. 0" >

val ue="6. 0" >

val ue="6.0">

val ue="6. 0" >

val ue="6. 0" >

val ue="6. 0" >

val ue="6. 0" >

val ue="6. 0" >

val ue="6.0">

val ue="6.0">

val ue="6.0">

val ue="6. 0" >

val ue="6.0">

val ue="6. 0" >

val ue="6. 0" >

val ue="6. 0" >

val ue="6.0">

val ue="6.0">

val ue="6. 0" >

val ue="6. 0" >

val ue="6. 0" >



</ TD>
<TD align="center">

<I NPUT type="text" name="Mat0doc3" size="3" val ue="6.0">
</ TD>
<TD align="center">

<I NPUT type="text" name="Mat ldoc3" size="3" val ue="6.0">
</ TD>
<TD align="center">

<I NPUT type="text" nanme="Mat2doc3" size="3" val ue="6.0">
</ TD>
<TD align="center">

<I NPUT type="text" name="Mat3doc3" size="3" val ue="6.0">
</ TD>
<TD align="center">

<I NPUT type="text" name="Mat4doc3" size="3" val ue="6.0">
</ TD>
<TD align="center">

<I NPUT type="text" name="Mat5doc3" size="3" val ue="6.0">
</ TD>
<TD align="center">

<I NPUT type="text" nanme="Mat6doc3" size="3" val ue="6.0">
</ TD>
<TD align="center">

<I NPUT type="text" name="Mat7doc3" size="3" val ue="6.0">
</ TD>
<TD align="center">

<I NPUT type="text" name="Mat8doc3" size="3" val ue="6.0">
</ TD>
<TD align="center">

<I NPUT type="text" nanme="Mat9doc3" size="3" val ue="6.0">
</ TD>
<TD align="center">

<I NPUT type="text" name="Mat 10doc3" size="3" val ue="6.0">
</ TD>
<TD align="center">

<I NPUT type="text" name="Mat lldoc3" size="3" val ue="6.0">
</ TD>
<TD align="center">

<I NPUT type="text" name="Mat 12doc3" size="3" val ue="6.0">
</ TD>
<TD align="center">

<I NPUT type="text" name="Mat 13doc3" size="3" val ue="6.0">
</ TD>
<TD align="center">

<I NPUT type="text" name="Mat 14doc3" size="3" val ue="6.0">
</ TD>
<TD align="center">

<I NPUT type="text" name="Mat 15doc3" size="3" val ue="6.0">
</ TD>

</ TR>
<TR bgcol or ="#61B67C" >

<TD al i gn="cent er " ><B>MAC5</ B>
</ TD>
<TD align="center">

<I NPUT type="text" nanme="Mat0Odoc4" size="3" val ue="6.0">
</ TD>
<TD align="center">

<I NPUT type="text" nanme="Mat ldoc4" size="3" val ue="6.0">
</ TD>
<TD align="center">

<I NPUT type="text" name="Mat2doc4" size="3" val ue="6.0">
</ TD>
<TD align="center">

<I NPUT type="text" name="Mat3doc4" size="3" val ue="6.0">
</ TD>
<TD align="center">

<I NPUT type="text" name="Mat4doc4" size="3" val ue="6.0">
</ TD>
<TD align="center">

<I NPUT type="text" name="Mat5doc4" size="3" val ue="6.0">
</ TD>
<TD align="center">

<I NPUT type="text" nanme="Mat6doc4" size="3" val ue="6.0">



</ TD>
<TD align="center">

<I NPUT type="text" nanme="Mat 7doc4"
</ TD>
<TD align="center">

<I NPUT type="text" nanme="Mat8doc4"
</ TD>
<TD align="center">

<I NPUT type="text" nanme="Mat9doc4"
</ TD>
<TD align="center">

<I NPUT type="text" name="Mat 10doc4"
</ TD>
<TD align="center">

<I NPUT type="text" name="Mat 11doc4"
</ TD>
<TD align="center">

<I NPUT type="text" nanme="Mat 12doc4"
</ TD>
<TD align="center">

<I NPUT type="text" name="Mat 13doc4"
</ TD>
<TD align="center">

<I NPUT type="text" nanme="Mat 14doc4"
</ TD>
<TD align="center">

<I NPUT type="text" name="Mat 15doc4"
</ TD>

</ TR>
<TR bgcol or="sil ver">

<TD al i gn="cent er " ><B>MAC6</ B>
</ TD>
<TD align="center">

<I NPUT type="text" nanme="Mat0doc5"
</ TD>
<TD align="center">

<I NPUT type="text" nanme="Mat ldoc5"
</ TD>
<TD align="center">

<I NPUT type="text" nanme="Mat2doc5"
</ TD>
<TD align="center">

<I NPUT type="text" nanme="Mat 3doc5"
</ TD>
<TD align="center">

<I NPUT type="text" nanme="Mat4doc5"
</ TD>
<TD align="center">

<I NPUT type="text" nanme="Mat5doc5"
</ TD>
<TD align="center">

<I NPUT type="text" nanme="Mat6doc5"
</ TD>
<TD align="center">

<I NPUT type="text" nanme="Mat 7doc5"
</ TD>
<TD align="center">

<I NPUT type="text" nanme="Mat8doc5"
</ TD>
<TD align="center">

<I NPUT type="text" nanme="Mat9doc5"
</ TD>
<TD align="center">

<I NPUT type="text" name="Mcat 10doc5"
</ TD>
<TD align="center">

<I NPUT type="text" name="Mat 11doc5"
</ TD>
<TD align="center">

<I NPUT type="text" name="Mat 12doc5"
</ TD>
<TD align="center">

<I NPUT type="text" name="Mat 13doc5"

size="3"
size="3"
size="3"
size="3"
size="3"
size="3"
size="3"
size="3"
size="3"
size="3"
size="3"
size="3"
size="3"
size="3"

size="3"
size="3"
size="3"
size="3"
size="3"

size="3"
size="3"
size="3"
size="3"

val ue="6. 0" >

val ue="6. 0" >

val ue="6.0">

val ue="6.0">

val ue="6.0">

val ue="6. 0" >

val ue="6. 0" >

val ue="6. 0" >

val ue="6. 0" >

val ue="6. 0" >

val ue="6. 0" >

val ue="6. 0" >

val ue="6. 0" >

val ue="6. 0" >

val ue="6.0">

val ue="6. 0" >

val ue="6.0">

val ue="6. 0" >

val ue="6. 0" >

val ue="6. 0" >

val ue="6. 0" >

val ue="6.0">

val ue="6. 0" >



</ TD>
<TD align="center">
<I NPUT type="text" name="Mat l4doc5" size="3" val ue="6.0">
</ TD>
<TD align="center">
<I NPUT type="text" name="Mat 15doc5" size="3" val ue="6.0">
</ TD>
</ TR>
<TR bgcol or ="#61B67C" >
<TD al i gn="cent er " ><B>MAC7</ B>
</ TD>
<TD align="center">
<I NPUT type="text" nanme="Mat0Odoc6" size="3" val ue="6.0">
</ TD>
<TD align="center">
<I NPUT type="text" name="Mat ldoc6" size="3" val ue="6.0">
</ TD>
<TD align="center">
<I NPUT type="text" nanme="Mat2doc6" size="3" val ue="6.0">
</ TD>
<TD align="center">
<I NPUT type="text" nanme="Mat3doc6" size="3" val ue="6.0">
</ TD>
<TD align="center">
<I NPUT type="text" nanme="Mat4doc6" size="3" val ue="6.0">
</ TD>
<TD align="center">
<I NPUT type="text" nanme="Mat5doc6" size="3" val ue="6.0">
</ TD>
<TD align="center">
<I NPUT type="text" nanme="Mat6doc6" size="3" val ue="6.0">
</ TD>
<TD align="center">
<I NPUT type="text" nanme="Mat7doc6" size="3" val ue="6.0">
</ TD>
<TD align="center">
<I NPUT type="text" nanme="Mat8doc6" size="3" val ue="6.0">
</ TD>
<TD align="center">
<I NPUT type="text" name="Mat9doc6" size="3" val ue="6.0">
</ TD>
<TD align="center">
<I NPUT type="text" name="Mat 10doc6" size="3" val ue="6.0">
</ TD>
<TD align="center">
<I NPUT type="text" nanme="Mat lldoc6" size="3" val ue="6.0">
</ TD>
<TD align="center">
<I NPUT type="text" name="Mat 12doc6" size="3" val ue="6.0">
</ TD>
<TD align="center">
<I NPUT type="text" name="Mat 13doc6" size="3" val ue="6.0">
</ TD>
<TD align="center">
<I NPUT type="text" nanme="Mat l4doc6" size="3" val ue="6.0">
</ TD>
<TD align="center">
<I NPUT type="text" nanme="Mat 15doc6" size="3" val ue="6.0">
</ TD>
</ TR>
<TR bgcol or="sil ver">
<TD al i gn="cent er " ><B>MAC8</ B>
</ TD>
<TD align="center">
<I NPUT type="text" name="MatOdoc7" size="3" val ue="6.0">
</ TD>
<TD align="center">
<I NPUT type="text" name="Mat ldoc7" size="3" val ue="6.0">
</ TD>
<TD align="center">
<I NPUT type="text" name="Mat2doc7" size="3" val ue="6.0">
</ TD>
<TD align="center">



<I NPUT type="text" name="Mat3doc7" size="3" val ue="6.0">
</ TD>
<TD align="center">

<I NPUT type="text" name="Mat4doc7" size="3" val ue="6.0">
</ TD>
<TD align="center">

<I NPUT type="text" name="Mat5doc7" size="3" val ue="6.0">
</ TD>
<TD align="center">

<I NPUT type="text" nanme="Mat6doc7" size="3" val ue="6.0">
</ TD>
<TD align="center">

<I NPUT type="text" name="Mat7doc7" size="3" val ue="6.0">
</ TD>
<TD align="center">

<I NPUT type="text" name="Mat8doc7" size="3" val ue="6.0">
</ TD>
<TD align="center">

<I NPUT type="text" nanme="Mat9doc7" size="3" val ue="6.0">
</ TD>
<TD align="center">

<I NPUT type="text" name="Mat 10doc7" size="3" val ue="6.0">
</ TD>
<TD align="center">

<I NPUT type="text" nanme="Mat lldoc7" size="3" val ue="6.0">
</ TD>
<TD align="center">

<I NPUT type="text" name="Mat 1l2doc7" size="3" val ue="6.0">
</ TD>
<TD align="center">

<I NPUT type="text" name="Mat 13doc7" size="3" val ue="6.0">
</ TD>
<TD align="center">

<I NPUT type="text" nanme="Mat l4doc7" size="3" val ue="6.0">
</ TD>
<TD align="center">

<I NPUT type="text" name="Mat 15doc7" size="3" val ue="6.0">
</ TD>

</ TR>
<TR bgcol or ="#61B67C" >

<TD al i gn="cent er " ><B>MAC9</ B>
</ TD>
<TD align="center">

<I NPUT type="text" nanme="Mat0doc8" size="3" val ue="6.0">
</ TD>
<TD align="center">

<I NPUT type="text" nanme="Mat ldoc8" size="3" val ue="6.0">
</ TD>
<TD align="center">

<I NPUT type="text" nanme="Mat2doc8" size="3" val ue="6.0">
</ TD>
<TD align="center">

<I NPUT type="text" name="Mat3doc8" size="3" val ue="6.0">
</ TD>
<TD align="center">

<I NPUT type="text" name="Mat4doc8" size="3" val ue="6.0">
</ TD>
<TD align="center">

<I NPUT type="text" nanme="Mat5doc8" size="3" val ue="6.0">
</ TD>
<TD align="center">

<I NPUT type="text" name="Mat6doc8" size="3" val ue="6.0">
</ TD>
<TD align="center">

<I NPUT type="text" name="Mat7doc8" size="3" val ue="6.0">
</ TD>
<TD align="center">

<I NPUT type="text" name="Mat8doc8" size="3" val ue="6.0">
</ TD>
<TD align="center">

<I NPUT type="text" name="Mat9doc8" size="3" val ue="6.0">
</ TD>
<TD align="center">



<I NPUT type="text" name="Mat 10doc8"
</ TD>
<TD align="center">
<I NPUT type="text" name="Mat 11doc8"
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</ FORW>

<HR>* Mean devi ation cap is 2.5, the center point is 5.
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